000000000000 000000 MaxwellOOODOOOO 2003/8/30,2012.10.3 0O

googoboobooboobooboobooobooboobooboooboobooboobon
gboocooOobobooobOobooooboboooooobobooooobOoboooobOobn

NOOOOOooboooooboo 3sNoooboooooooboboooobob sNOODOO
{vi=pi/m} 000000
3N
ZWQ:% (1)
i=1
gbobobuooboboobooboboobuboboebobobobooboboobobonbg
0000000 n=3N,ae?=2E/mO000000000 2000000

V=0 o+ 402 B =t v’ o+ v (2)
000000000000OoOooooto
dvy ---dv, = d"v = S, (v)dv, dvyqq---dv, = S,—,(T)dT (3)

ooooo P(v)yd 000000000000 O0O0OO0O0 n—pO0000000000

JaZ—r
P(v)dto = < / Po(V2 1 02) S () dﬁ) o (4)
0
o000 e0n000000O0DO0OO0O0O0OODODDOOO0OOOODOO
P,(v)d"v = Snl(a) 0(v —a)Sp(v)dv (5)

0000n0000000000 Ve?2+920000000000002%20000000000000

Po(V0? +752) = SV 472 —a) = —— 57— Va2 — 0?) (6)

Sn(a) Sn(a)Va? —v?

00000000 p0000000000000000030

(n—p—2)/2
a Sp—u(1) v? dHv
P oy — _ 2 _ 52 Moy — ENTH 1— —
M(v)d v Sn CL) a _02 Sn M( a v ) d"v Sn(l) < ag) att (7)

000 NOn=3NOUOOOUOOOOOOOOO(MmOov=000000000000000 v/a~
1/y/n0000000000000000k<kn000000 000 StclingODO0O0OO0OOO

Sn—p(l) _ (1 / /2 <n—u) <n >“/2
S, (1) _"F<2) ) = e ®)
0Dooo0
1irr(1)(1 —e)Y/*=¢"! O eO NapierO O 9)
e—

000200000000 Su(r)=27"2r""1/['(n/2)0 000 Vu(r) = 202" /nl(n/2) = (r/n) Su(r),
00000000000 (n/2)I(n/2) = '((n+2)/2)

2 f(20) =000 006(f(x)) = [(df/dz) " |aq 3z — o)

Su=n—-20008,(1)=27Vs—-2(1), So(1) =27 000 Pr—2(v) = 1/Va_2(a) = constant 1000000 (4) O
P.(v)=1/Vu(a) (W<a)00OODO0DO0DD0DD00000000000000000(7)0n0n+200000000
gboboboooobotddn»1dbgbooboboobooboboobob0oboboobobobobDobDobobobobO



000000u<n000

n \*? nv?
P,(v)dfv ~ (277@2) exp <_ﬁ> d"v (10)

0000000 @oo0oooo0oooo0o0oooOO0oULOpOD0DDODOO0OODOO0DOODODOOOO
p=30000n=3N,e’?=2E/m00000 10000000000000000O00OO0

mv?  F
- = 11
2 N ( )

gbooboboboboobooboobooboobb-oboboobobo

N Nm —
000 E/N=3kT/2000000000000000000000 MaxwellOOOOOOOO
N m \3/? m (V24 v, 2+ v,2
[ (e, vy, v;) dvgdvydu, = V(ka:T) exp <— (v 2]{:% =) dvgdvydv, (13)

gbbooboobooobobobooobuog yuobooobooaoodgd

mvz

_my2 2 ... 2) _ mv
H—2(Ul + v9” + —i—’l}n)— 5 (14)

00000000000000000000000000ANOOOOOO E0A42=28/mO00000
00000000O0N(«<AN)00000000000000p=n000 (100000000000
000(10)000 n/e200000 3V/A200000000 00000 E=(N/M)EDOODOO

AN nam
23 (15)
000000000000 HOOOD
N o2 2l "2/2 dH
oooooo
22 m \"™/? 2H\ "=2/2 qH
P(H)dH = nm wmw(_) af
(H)d I'(n/2) (47rE) ¢ m m
(n/2)"/2 o H/2E <£>(n_2)/2 dH (17)
I'(n/2) E E

(%)
000000000n=3N,E/N=3kT/20000000000000000000000000

00000o0o0O00o0o00o0O0O00000O0O00D0OL0OO0O0ODO0H/E=1-(2/n)000O0O
0000000000000 (x9)O00ODUOLO0ODUO0OH/E=14+¢(00000n0000000000O0O

_ 2
n2 2log(l +§):—g—% ) (*)fze_”/Qe_”§2/4 (18)

O0o0o0ooooooo E~1/y/p000000¢000000O00O0O00O0O0OOO0O0OOOOO

log (x) = —Z(1+€) +

2



000 StirlingO OO

2I(z)=T(z2+1) ~ 27rz<§) (19)
000000000 z=n/2000
(n/2)"2 no o
ULV s p
T'(n/2) ar € (20)
O00O0On>»1000
n n (H 2] dH

obob0ob0ob0ObH=E0000000DOO00 POOODOOOO 2/n000000000001
gbooopobooboobbn—=o0oU00O0O0D0DOO0OOOODODOODOODODODOODOOODLDDOO

P(H)dH = 6(H — E)dH (22)

000 n00000000wv=+2H/mO00000000e=+2E/mO0000000O0O

n \ /2 n 9
P(U)duz(W) exp {—;(U—a) ]dvzé(v—a)dv (23)
00000000000 n000000000 «00000000D0400000000000000
O00000 0000000 0" '0000nr>100v=ea000000 nY2a<aD0O0000O
O00O0.000000 000000000000 ooooooo3gooooooooooooa
goao (13)|:|DDDDDDDDDDDDDDDDODDDDDDDDDDDDDDDD’U26_BU2DDD
gooooooood

gobooboobooboboooboboo,0b0D00O0ODOn=3N0O0OD0 nODOOODLOODODOODO
000000000000000000000000000000000000000000000°0
p<<nUi000000D000DOO0DOOODOOOO0ODOOOOODOODLOOOODOOOO0ODbOO0ODO
000000000000 0000000000 0000000 0 1/y/p0000000000D00O0O0
oooooooo0Obooobooobboobobooobboooobboobboobbdd n>»1
ooooooooogooo ooooboboboboob0 FOoOooooo sgboboooooboooo
OMaxwell OO ODOODOOOOOOOODOODOODOODOODOOOODOO

h/ ANy H

|3 —

(57e2)

n
exp _ﬁ

‘000000G)DO0D™ '000D00000000D00D00O0DN(23) 00000000000
000000000000 000d »n—-1000000000000000 ¢0 n—-100000 Pyi(v) =
2a/Sn(a)va? —v20000000000000O0O0OO





